T4 U OVIBEDHRE, 1EFRE

WA

20127 H 11 H

= 7 = iE

4, £ 10 iWALES BHOKE 1T

8, k3, k10 27y bR 2y b R

15, k10 2.24 2 (2.24)

17, 7 / / h

24, T 5 (2.33) & (2.33)

32, k9,10, 14 2™ (1) k(1)

45, 4 THHND THELRHE%E t 7 FLT
45, k5 R (t1,t2) = R (t1,t2) = Ry(t1 —t1,ta — 1) =
52, k4 DEVT IZBWT

56, I 16 (3.23) ® (3.23) D=2V FD

57, T4 BHR ARG T AR ERE R DR AAG T

66, T 10 eI 2Tk f/ fm eI2mkf/ fm

70, X1 4.6 (a)  fEEIRAIZ L it 2 FI A5

70, X 4.6 (b)  fiEEALE T, KEHARL  #ERAZER o =0, RAIME

71, T8 B TH 3 B%

81, T4 Z 7, ERWE, £, SV REF2=R—=F E LT
91, T 7 — I — i1z

96, T 4 Sm2.k sfmk

98, k5 1y +F2RETZEHDD 1EvY 23

99, F 10 oL E fifbDzoh=132, ZOLE
99, T8 e;(t)ea(t) e (t)er(t)

99, T 4 e1(t) — ea(t) eo(t) —ex(t)

103, T 6 A (CNR) g E

107, k3 IEBEHBR I ARLIRE Y

110, T 2 iz AM BOXZEHE AM JEGE

145, T 6 I=R—7 FHER T DB IE L =R —F

147, T 4 erfc erfc




<=y {7 # iE
161, k10 B R
166, T 7 (3.29) X (3.32)
170, ¥ 11 o(t) p(t)
4o 4o
173, T 1 P T
179, T 7 [EqE B3
180, K 10.5 (¥ + 7> av) QPSK, OQPSK, MSK DOfE5 ri#isofi




